
Algebraic Products 
 

Q1.  Simplify these expressions. 
a)  3 × ܽ b)  5 × c)  7 ݎ × 2 ×  ݎ
d)  ݎ × × ݄  (e ݓ ݁ × 3 f)  8 × × ݑ ݅ × 2 
g)  2݀ × 3 h)  4݀ × 6 i) 2 × 3݃ × 6 
j)   2 × × ݎ ݁ k)   4 × × ݍ × ݔ 2݀ l)  9 × × ݓ 3݁ ×  ݏ2

 
Q2. Simplify these expressions. 

a)  ݕ × × ݔb)  2 ݕ × c)  4  ݔ  × ݎ  ݎ2
d)  ݄ × ݂ × ʹ݄ × ݂ e)  2݌ × × ݕݔf)  2 ݍ3  ݕݔ3
g)  ݅ × 2݅ × × h)  8݉ ݎ3 ݉ × 2݊ i) 6݃ × 2݂ × ݃ × ܽ 
j)   8ݕ × × ݔ 2݁ × × k)   4݃ ݕݔ ݁ × 2݃ × 2݁݃ l)  4݂ݎ × × ݎ6݂  ݎ݂

 
Q3.  The top of each shape is the sum of the two expressions and the bottom is the product.  Complete 
the missing terms in each cell.  The first one has been done for you. 

 
 
Q4.  Investigate possible perimeters for these rectangles given their fixed area: 

a) 

 
 

b)  
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2݀ + ݐ4 6 + ݑ5 ݑ + 6
3  ݀ + ݉ 

ݐ6 െ 4 3݉ + ݉ݑ 10
ݐ  

݀ + ݐ + 1 

ݐ2 െ ݉݀ 4݉ + ݐ3 ݎ + ݐ݀ ݉ݎ + 5݉ 

 ݐ

ݐݑ െ 11 

Substituting into Expressions 
 

Q1. Substitute these values into the following expressions: 
a = 4 b = 2 c = 5 d = 8 

 

a) ܽ + 12 b) ܾ + 5 c) ܿ െ 4 

d) 5݀ e) 9ܽ f) 2ܾ + 6 

g) ௖ହ h) ௗଶ i) ଺௔ସ  

j)  ௗଶ + 5  k) 2ܿ + ܽ l) ܾܽ െ 2 

Q2. Substitute these values into the following expressions: 
݃ = 1 ݄ = ݔ 7 = ݓ 9 = 10 

 

a) 2݃ + ݔb) 5 ݓ െ ݄ c) ݃ݔ + ݄ 

d) ͸݄ݓ e) 3ݓ െ 8݃ f) 2݃ +  ݓ݄

g) ௪ହ௚ h) ௛ା௫ସ  i) ௫ି௛ଶ  

j)  ௛ାଷ௪ + 4  k) ݄ݔ െ ݃ l) ݄ݓݔ + 4݃ 

 
Q3.  Use these values to match the following expressions: 

ݑ = ݐ 3 = 6 ݉ = 12 ݀ = 20 
 
 
 
 
 
Q4.  Use these values to place the following expressions in ascending order. 

ݎ = െ1 ݐ = 10 ݉ = 4 ݀ = 0.5 
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